








Level 6








Negative unknowns.








Unknowns on both sides.


Exercise 1

Solve these equations.

(1)
17 ( x = 3

(2)
19 ( 5n = 4

(3)       20 ( 3r = 14

(4)
24 ( 4f = 16

(5)
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(6)  15 = 100 ( 5y
(7)
22 ( 3p = 3

(8)
25 = 3 ( 11t

(9)
3 ( 2h = (2


Exercise 2

Solve these equations.

(1)
2r ( 1 = 4 ( r

(2)
1 + 3f = f + 6

(3)  5h + 2 = h + 20

(4)
3e ( 1 = 1 ( 3e

(5)
2t + 3 = 18 ( 3t

(6)  9 ( a = 20 ( 4a
(7)
3m ( 22 = m ( 15
(8)
8p + 7 = 2p + 10
(9)  h + 5 = 11 ( 2h
(10)
2 + 5a = a + 5

(11)
3n + 1 = n + 19

(12)  8a(8 = 55(a
(13)
Paul has two equal lengths of fencing which he wants to use to make the two 

different rose gardens shown below.

(i)




(ii)



(a)
Write down and simplify an expression for the perimeter of each 

rose garden.


(b)
Write an equation connecting the perimeters of the two gardens.


(c)
Solve this equation to find f.

(14)
In a room there are 3x ( 4 adults and x + 2 children.


(a)
There are 12 more adults than children.



Write down an equation using this information.


(b)
Solve your equation.


(c)
How many adults and how many children are there in the room ?
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Solve these equations.

(1)
2r ( 1 = 4 ( r

(2)
1 + 3f = f + 6

(3)  5h + 2 = h + 20

(4)
3e ( 1 = 1 ( 3e

(5)
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(9)  h + 5 = 11 ( 2h
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3n + 1 = n + 19

(12)  8a(8 = 55(a
(13)
Paul has two equal lengths of fencing which he wants to use to make the two 

different rose gardens shown below.

(i)




(ii)



(a)
Write down and simplify an expression for the perimeter of each 

rose garden.


(b)
Write an equation connecting the perimeters of the two gardens.


(c)
Solve this equation to find f.

(14)
In a room there are 3x ( 4 adults and x + 2 children.


(a)
There are 12 more adults than children.



Write down an equation using this information.


(b)
Solve your equation.


(c)
How many adults and how many children are there in the room ?

Remember to show the steps in your working.
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